o —
% él @ Addisjon opptil 1000 (horisontalt)

StudentName: ExamDate: _ ExamScore: ____
608 + 620 = 551 +521 =
784 + 927 = 100 + 568 =
293 + 603 = 111 + 646 =
608 + 167 = 982 + 689 =
818+ 854 = 056 + 198 =
872+ 996 = 637+ 94 =
455 +917 = 881 + 799 =
809 + 50 = 217+ 176 =
800 + 578 = 952+ 9=
668 + 99 = 225+3505 =
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5 pr—
Zpﬁ él @ Addisjon opptil 1000 (horisontalt)

StudentName: __ ExamDate: _ ExamScore:
608 + 620 = 1228 551+ 521 = 1072
784 +927 = 1711 100 + 568 = 668
293 + 603 = 896 111 + 646 =757
608 + 167 = 775 982 + 689 = 1671
818 +854 = 1672 956 + 198 = 1154
872 +996 = 1868 637+ 94 = 731
455+ 917 = 1372 881 +799 = 1680
809 + 50 = 859 217+ 176 = 393
800 + 578 = 1378 952+ 9 =961
668 + 99 = 767 225+ 505 = 730
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